Miss Hughes group — Reasoning and problem solving answers

Bronze

1a. Alex spends £12, he has £8 left. Julia
spends £4, she has £14 left.

2a. 6

3a. Hasan is correct. Olivia has calculated
how many have been sold.

Silver

4q. Steph spends £12, she has £28 left.
Jake spends £16, he has £24 left.

5a. 4

éa. Chuan is cormrect. Hafsa has calculated
how many have been sold.

7a. Blake spends £32, he has £16 left. Li
spends £30, she has £18 left.

8a. 2

?a. Grace is correct. Oliver has calculated
how many have been sold.

1b. Jan spends £5, he has £5 left. Isma
spends £3, she has £7 left.

2b. 1

3b. Evie is cormrect. Harry has calculated
how many have been sold.

4b. Marie spends £20, she has £12 left.
Saalih spends £24, he has £8 left.

5b. 4

éb. Lucy is correct. Joseph has calculated
how many have been sold.

7b. Ellie spends £36, she has £4 left. Junior
spends £35, he has £7 left.

8b. 8

?b. Anika is correct. Jakub has
calculated how many have been sold.



